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Reciprocal Trisonometric Ratios

Dztermine all other trigonometric ratios given the following:
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sin 0=~
cosf=2
8
12
tan 6 ==
5
g
cscB=-
3
6
sec 0= -
2
cot B ==
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Angles Bevond 180°

Name 3 coterminal angles for each of the following:

1500 576" ‘3'10:> -210° .
310 NO° )LHD N - 6710
100 32° 230" | -250°
R TS D -1
18O5 5057 045"y 6T
R TR 13357, -17S°

Determine the principal angle for each of the following:

550 1407
,9100 l 70.
100 350°

1245 [(S°
-15500 24o°
2850 230"

State the exact trig ratio for the following;
a) sin 450 =

b) tan 30¢ =

c) cos60e =

AT
o) B) el

dj sin 225« =
e) tan 125¢ 2 o

f) cos316 = if—'-
}ocsc 150 = 2
h) cot-135c = |

i) sec-420c = 2



